[ Efficiency vs vertpos |

~ 0.5

20.45
4

2 04
(8]

$0.35
0.3
0.25
0.2
0.15
0.1
0.05

ettic

b AN RN RN LR RRRRE LRRLE LAY AR

.................................................

.................................................

.................................................

el:

Ratio

0.8[H- -

14 - -

Efficiend

1.2

1072

0.8

efticiency vs vert z
T

0.6

0.4

0.2

10

Ratio
Hl

0.8F-

0.6

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1
>
2 0.09F

E
5 0.08F

L0.07F
L>)~ o
< 0.06F
<] E
=) F
20.05F
() E

0.04F

0.03F
0.02F-
0.0

Ratio
=
T

=20

=510 5

Sim. PV z (cm)



	Contents
	Page 1


